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@Zc*]:
Óx�VÐÎZßV»�Z[ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�bÑiòìX
ÑiòìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1a
/V6,� (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa ìX
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw�

ìX (Null Set) gzfs~ÐÃy{àÃL q       (i)

c Zzg b (d) { } (c) (b) {0} (a)

qgzfs~Ãy9ì? A óA$ �z_54øGH�Zzg B Zzg A Z¤/   (ii)

Zy~ÐX (d) A = B (c) B = (b) A = (a)

�ÇX ìÂ (Different Sets) �zZ_54øGH Y Zzg X Z¤/ (iii)

Zy~ÐÃð7  (d)   (c)       Y (b) X  (a)

'''�@*ìX (Diagonal Elements) ~zF,~ÁÜ (Identity Matrix) Z»ðâF,k       (iv)

Zy~ÐÃð7 (d) �zâV b Zzg a (c) Zq-  (b) (Equal) 7V (a)

�@*ìX (Value) »�g Determinant » (Singular Matrix) Zq-¢°âF,k (v)

0*õ (d) & (c) Zq- (b) # (a)

�''''�@*ìX (Price) ~7 (Perfect Competitive Market) å)�!*iZg  (vi)

P = MR > AR (b) P = MR = AR (a)

P > MR > AR (d)     P < MR < AR (c)
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Marginal Cost Zzg Total Cost �Ûx�&Ðic*�{o«z;V¾@*ì�V (Perfect Competition) å)�~       (vii)

''''�@*ìX Slope »
ì? (Process)¿(Opposite) »',@ Differentiation (viii)

Relation (d) Function (c) Addition (b) Integration (a)

qgzfs~Ãy%�/~~yÅeöì?       (ix)

Zy~ÐX (d) (Mode) c6 (c) (Median) zT6  (b) (Mean) Zz� (a)

�Ç? (Average Marks) ìÂZy»Zz� 10 Z¤/0*õCÆâg¾',Z',Zzg   (x)

20 (d) 5 (c) 15  (b) 10 (a)

z�zx

Æ�gxy�ÛtÃìVw�NX (Function) Zzg·¶ (Relation) gº .2
_54

ø
G
HÐM\HB�?ìVwCNX .3

Æ&S:]ÃCNX (Determinant) eñf.$ .4

TR=400Q-33Q2 ó(Respectively) !*nKM (Total Revenue and Cost Function) Z¤/ÀMæãZzgÑ�'»·¶ .5

¥x�,�V�&Ðic*�{o« (Value of Output) ìÂaZzZgÅ�g TC = 2Q3 - 3Q2 + 400Q + 5000 Zzg

Ì¥x�,X (Profit) �ÇZzgo« (Maximum Profit)

Lumpsump ¥x�,ZzgtÌU*"$�,� MPC ìX T = 200 Zzg Yd = Y - T �V C = 2400 + 0.8 Yd Z¤/ .6

7$+mìX MPC **Ç�äÐ Tax

ÃCNX (Laws) Æ̧Z2 Union of Sets .7

ÃÒy�,X Median Zzg Mean .8

~�ÛtCNX Standard Deviation Zzg Variance .9

zÎx

¥x�,X Determinants » (Matrices) qgzfsâF,k .10

3/2



¥x C Zzg Y »ZEw�ÆáZiy (Inverse of Matrix) ìXâF,k»wk C = C0 + bY �V Y = C + I0 ¤/Z .11

�,Zzg¥xÃgñá»ZEw�Æn�b�ñ)zZ]Ãi�,X
 Y = C + 40

C = 35 + 0.5 Y

¶ÆÚ�äÆÑZ_ÃÒy�,ZzgU*"$�,�qgzfs·¶ÚìX · .12

(b) f (x) = 5x2 - 8x = 9 at x = 3 (a)

TC=2000+10Q ìZzgÀÑ�' (Demand Function) Q = 50 - 0.4 P q-�Ûx»â8-»·¶ Z .13

¥x�,Z#�ÛxÃ�&Ðic*�{o«�X (Quantity) Zzg�g (Price) Â7 (Total Cost Function)

�qÝK�XÂ¥x�,� 10 CÆqÝ�{�Z]�b��XZzgqæä 20 qgzfs].zw~ .14

10, 12, 16, 10 ,12, 16, 16, 22, 20, 18, 14, 20, 18, 12, 10, 16, 10, 12, 16, 20

qæäZz¹!*¹CÐÁc*ic*�{�qÝHìX (a

M�ñC»qÝ�{�qæÆ�ÐÁc*ic*�{ìX (b

ZÒC»qÝ�{�qæÆqÝ�{�ÐÁc*ic*�{ìX (c

///
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